GROUSER
PRODUCTS

John Deere 9RX Extended Bracket

Installation Instructions

Caution:

» Always use precaution when working around any equipment.

* Always wear safety glasses.

* Follow tractor manufacturer’s safety guidelines when installing this product.
* Read all instructions prior to installation.

1. Install the new extended axle brackets in place of the standard axle brackets in Step #4 in mounting instructions 41865-INS. Attach with
16 - 20mm x 60 mm bolts and 16 - hardened flat washers.

2. Continue with installing JD 9RX undercarriage until Step #17.

3. For Step #17, attach front and rear brackets to inside of undercarriage with 16 - 3/4” x 2-3/4” bolts, 32 - 3/4” hardened HD flat washers
and 32 - 3/4” nuts. Install plate thickener between undercarriage and 3/4” hardened HD flat washers and 3/4” nuts.

4, Attach extended axle brackets to outside of undercarriage with 16 - 3/4” x 2-3/4” bolts, 32 - 3/4” hardened HD flat washers and 32 - 3/4”
nuts. The plate thickener should be between the extended brackets and the undercarriage.

5. Continue with Step #18 in undercarriage mounting instructions.

PN: 42445-INS Date: 8-24-2020



_ Xd6 [Tl GLOT/ITIS | . e 7 OW
. . . . 90"+ XX STYWIO3d
:}odys UQ pasn| AupND | 81008 $=llelq| . e Sor O

1Y 195001g pPapusiX3 QS jumoig | S SGMEEN SN
dle] SUON :ysiui4

89 _Oszm.uw/r 31111 "
8/085 AN ‘0BID4 Isom -02\ mlhu\'Qth tmmbctg s

L€18'Z8C’ 104 XA
01££°28C 0L ®UoUd MN 9AY puUg GG/

ON 84191108 X8H .p/€-C X ¥/ 43 11602-91 €
1e)oeIg 8AUQ [eul{ PapuaiX3 X6 14 0128l 14
9ey JausyoIy] ‘sjeld z 69LZHvY | "QALgIHO¥d SI ONI SLONAOYd ¥ISNOYD 40 NOISSIWATA NILLIIM FHL]
LNOHLIM FTOHM JO L3Vd NI NOILONAO¥dIS ANV ONI SLONAOYd dISNO¥D
IVIY3LYIN NOILdI¥OS3a 'ALOAINE®d | 'ON L¥vd | 'ON W3Ll 4O AL¥3JO¥d I10S IHL SI ONIMVIA SIHL NI GINIVINOD NOILYWIO4NI FHL




